= A
N & O & AF Y A9 N A
2013 & =20 A LB H ST AIEA ~ 2CAIY A
2N 2TAYA
I AT AADE
tel: DISd+=E AME29 CEERED)
qE]
S E B (3H) - MBAY - BES O Ak o8 %Eﬁ HD=2
AT AR A 6,575,864 10,528,980 A3,953,116
= 500,000
2 233,000
= 5,842,864
MNAET AL 435,119 284,935 150, 184
2 233,000
= 202,119
DSa«z AE2Y 435,119 284,935 150, 184
2 233,000
= 202,119
osass SX22 87,119 100,935 A 13,816
201 L2 A 52,049 70,575 A 18,526
01 AL 22l 26,722 37,740 A11,018
Olget+gl] 26,722
O0IS M4T £TAANE 27 My 2|
4L015t) 120,000 * 6EtA 720
ODISALT HAE HAL 242 26,002
0 BIIHA(H2 140 22)
63,5002 * 4404 A * 33 8,382
o HIIAAM(EL 551 &=2)
310,000 * 4404 A * 1§ 13,640
o HIIAA (2 9N &=2)
31,0002 * 2WA * 13 62
o IIAA (R 11HE=R)
75,0002 * 50004 * 13 3,750
0 BFIIZAH(R 2 6IHE2)
42,0002 * 24 * 23 168
02 2z 25,327 32,835 A7,508
Oolz222 2 HMA] 7,740
ODISALT ROIBRAAL Q2
15,0002 * 5JHA » 1204 900
ODISA+E HaH2AAMNEHIQL2(2EAHNA
=R ) 190,000 * 3 A * 12748 6,840
O[AM&ZHISXIHI] 17,587
ODISMNLT HAAAE AIEQX L 4,387
o BT AH(2LEDH)
445,0009 * 200 A 890
o BN EA Sy (EHHE DA
3,3008 * 3600 1,188
o HAFEQIO [QI(EE) 990,000 * 1Al 990
o MU ZE (5m)L A
7,350 * 2170 * 3M A 464
o BIR SX22IHl(1.1kw)
100,000 * 300 A 300
0o BMNEA HY 427Y
11,1009 * 1004 * 50 555




SA SETARA
A MLECARB
S DSALE NESY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Olts&=% A&2els Xl
300,000 * 4404 A& 13,200
202 o4dl 600 360 240
01 = LH o4 1l 600 360 240
Onsada=: =224 £ Alds A0t
20,000& = 121 = 30 600
206 M= Hl 4,470 0 4,470
01 =4l 4,470 0 4,470
ODISA4E +HAME A2TY
80,000& = 38 « 53l 1,200
Oll244+E 22 257 3,270
O 1H 3,000& » 250kg 750
O Ml 800& = 3,1504 2,520
401 Al HIZ 201 8] 30,000 30,000 0
01 A& HI 30,000 30,000 0
OltSad=k sE HdESANE Ex=ZA
2,000,000& * 1000 A& 20,000
Oblts&d=E Ex3At 2,500,000& * 400 A& 10,000
L2AZAE HEAY 333,000 134,000 199,000
& 233,000
s 100,000
401 AIEHI L 201 333,000 134,000 199,000
& 233,000
s 100,000
01 A& Hl 333,000 134,000 199,000
OAnE =EAIE HE AL
333,000,000 * 14 333,000
= 233,000
s 100,000
272 =EAE HIXeltl 15,000 50,000 235,000
401 AIEHI L 20 15,000 50,000 235,000
01 A& HI 15,000 50,000 /35,000
OHSHXMcelHl % OISAIE HEES SAHI
3,000,000& = 5JH A 15,000
£ Mols 243t 50,000 0 50,000
£ MoE 2el 50,000 0 50,000
= MorsSael A= 50,000 0 50,000
207 O] 50,000 0 50,000
01 289 50,000 0 50,000
O2MoI82eHE =839l
50,000,000& * 14l 50,000
ot 22| 1,746,415 6,135,509 A 4,389,094




SA SETARA
HE: o4E 2el
&9 sOHE OtSol=% ZHAE (&)
4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 500,000
s 1,246,415
=0 E OtSot=% JHIAS 794,000 5,181,000 A 4,387,000
= 500,000
i 294,000
oA SZOSot=Mal & ot=Hel 7Y SHAY 80,000 0 80,000
401 Al& I 28I 80,000 0 80,000
01 A& HI 80,000 0 80,000
O=AM SF0tSot=HMel & st=Hel 2% &
A 80,000,000& * 14l 80,000
=28 4L XF sHELNS oS EHIAMY 714,000 0 714,000
= 500,000
s 214,000
T AEHZXEUY 714,000 0 714,000
= 500,000
s 214,000
01 A& HI 710,000 0 710,000
O3 ¢:X+ sHEDS ot=5 FUIAY
710,000,000 * 14 710,000
= 500,000
e 210,000
03 Al 2 THHI 4,000 0 4,000
O38 ¢LX? sHEDNS ot=% FUHIMZ
£ gl 4,000,000& * 14! 4,000
272 OtSot=% ZHISA 492,880 593,600 A 100,720
ot=% &l 402,880 503,600 A100,720
401 AIEHIZ 28I 402,880 503,600 A100,720
1 Al £l 400,000 500,000 A100,000
OA21 208 ot==% FHIZAHHI
400,000,000& = 14 400,000
03 Al 20 HI 2,880 3,600 AT20
OA220t2 ot=& ZFHISA 20HbI
400,000,000& = 0.72% 2,880
ot& =4 50,000 50,000 0
401 AIEBIZ 28I 50,000 50,000 0
01 A& tl 50,000 50,000 0
Odt=XMel72 U ot =& 3 At
8,000& * 30912+ 208.333m 50,000
DiS=sXeld 22 B3 M 40,000 40,000 0
401 Al BIZ 201 8] 40,000 40,000 0
01 A& HI 40,000 40,000 0
OOtSot=HMel & 22 23 Akl
4,000,000 * 1000 & 40,000
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2N
X ZH -
L= B

el

- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@i HRE2
DISstedelded 357,714 335,634 22,080
DE2st=Meld 29 357,714 335,634 22,080
201 B9 179,210 108,210 71,000
02 E2=2=2%H| 179,210 108,210 71,000
OlZ2=222 % HMA] 102,210
oNIIR3
278,985.507& * 23 A + 1204 E 77,000
O Sgratel oyl 3 &l
63,660 * 3334 « 120 25,210
O[ANEZH S XYl 77,000
OJIAHEH |X &4
594 5509 * 370HA * 1/2 11,000
ofE=Z X 22l
200,000€ * 200CH = 1/5 8,000
OASHEH ¥ SH A2l
2,500,0009 * 40024 = 1/10 10,000
O &D|EE X2
2,000,0009 * 400HA * 1/5 16,000
OFs&EH KA
3,200,0009 * 400HA =1/ 4 32,000
202 044l 2,080 2,080 0
01 2L HI 2,080 2,080 0
Ozx=ZHA A2 Ol
20,0003 * 121 = 3 * 128 720
OANMEZE EH & B4 0l
20,0003 * 201 % 34¢ 1,360
207 &I & d 25,344 25,344 0
01 24| 25,344 25,344 0
OALFRAR JIslczd 8,448,000 * 30 A 25,344
401 Al HIZL 2 0HY| 151,080 200,000 N 48,920
01 Al&H| 150,000 200,000 A 50,000
OAAZ2 XelAlE ALY
150,000,000 = 1JH A 150,000
03 AlE 201 Y| 1,080 0 1,080
OA2R2 HMlAlE HEAY 20|
150,000,000& = 0.72% 1,080
HO? Slx=HelAldE 29 101,821 0 101,821
AMEAH SleHe Ald&d 67,642 0 67,642
201 et d| 49,316 0 49,316
01 AF 22| H| 4,800 0 4,800
Olger=2H] 4,800
OselXl &2 24 =42 500,000& * 13| 500




SA SETARA
I 5l4E e
& HHe SteMelAME 2 (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
O HJI= € HMeldl
150,000& » 1& 122 1,800
O Zde AL =2 100,000& * 13 100
OFIIGHBRANY +48
200,000& = 123 2,400
02 =524l 44,516 44,516
Ol2322 < HMAl 21,960
O&dt=ZAEZ 30,000& * 12& 360
oOdIIR3 1,800,000& = 12& 21,600
o[ ZHl] 926
oHyBEI| o=
1,851.52& * 508 » 10Al2t 926
O[AMAEH R XYl 21,630
OJIA&H sX2el 22F 1,630
o02Y 250,000& ~ 1E& 250
o #elA 56,000& * 5& 280
o B 100,000& * 1E& 100
o HIAH¥ 10,000& = 10&  107H 1,000
O &JII&H |FX&e £BF 2,000
o &8I Xt 100,000& * 5& 500
o EfOIHH 25,0003 * 204 500
o B8 ZY 500,000& =« 23l 1,000
O=Z& TMS SAl&ecltl 1,500,000& = 12& 18,000
202 (44l 400 400
01 SLHOIYI 400 400
OAN&E=s 88 ¥ 204l
20,000& = 121 = 20 400
206 TH 2 HI 17,926 17,926
01 MHZ 8l 17,926 17,926
OB H(Z2H Z&)
10,000& = 10kg » 30 3,000
O=s&82H 6,000& = 20kg » 10 1,200
OBQAE SEHM(PAC) 2453 + 860kg * 12& 2,529
OSZUAE Jtd A0 2863 * 640kg * 12& 2,197
O=Z& TS |Xl2cl &+ZH|
5002 = 50kg » 30& » 12& 9,000
ANBH St=XH2Ad 2 34,179 34,179
201 LEr2 Y| 29,416 29,416
01 AP 2teltl 4,300 4,300
Oflger=&Hl] 4,300
O HJIE2 <Xt
150,000& » 1& » 128 1,800
O 3Jdllel BAM =2 100,000& * 13l 100
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SA SETARA
B slas 22
SHol Sl staXEAE 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
O&I|tE AU =2
200,000& = 12& 2,400
02 3324t 25,116 0 25,116
Ol2E22 % MAll 20,160
O&dle=T AIEE 30,000& * 12& 360
[ORSPIE =+ 1,400,000& = 12& 16,800
OsSgael Y s &l 250,000& = 12& 3,000
Ol 2dl] 556
OHlAagAD dZ
1,851.52& = 304 = 10Al2t 556
OIANEHEH KX 4,400
OJIHEH K22 A2F 1,400
0 2¢ 500,000& * 1EH 500
o #alA 140,000& * 5& 700
o RSN 200,000& * 1&& 200
OdIIEH |A&e A3 3,000
o &I XD 200,000& = 105 2,000
o EtOIH 25,000& * 404 1,000
202 04| 400 0 400
BIETEI 400 0 400
OANsE B2 % 2400
20,000& = 121 = 20 400
206 M = Hl 4,363 0 4,363
01 & bl 4,363 0 4,363
OZEZM(ELH Zs) 10,0002 * 5kg » 30 1,500
O3 2N 6,000& * 10kg = 10 600
OZQAIE S&E M (PAC) 2452 = 412kg » 128 1,212
OFAANAE It AL 286& * 306kg * 12& 1,051
MPES (=T AIEA) 4,344,330 4,108,536 235,794
HEAHN K= 4,344,330 4,108,536 235,794
AL ZIILANEY MNE2 1,615,795 2,081,475 N 465,680
300 dE= 962,195 989,875 N 27,680
01 BI)IHELEIHINTE= 962,195 989,875 N 27,680
Oata=& o1H4Hl XI€ (3491)
872,621,000 = 14! 872,621
Oa&+= JIMOIX A2 (2#EXNZ2 35)
89,574,000& * 14 89,574
404 BI|1gAE2dEs2 653,600 1,091,600 N 438,000
01 BIIEEEIAHAN=2ETES 653,600 1,091,600 N 438,000
OJIMEAS HH(sETZ22 35)
553,600,000& = 14! 553,600




SA SETARA
HH: HRES(LTAYL)
S WEAHAHX = (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OsHEMESS HEAMY
100,000,000 * 14 100,000
ot=% BIILXNE HE= 2,728,535 2,027,061 701,474
09 MEZ 2,226,975 329,211 1,897,764
01 SILELIIHNZHNEES 2,226,975 329,211 1,897,764
Odt=S el XI&(27¢21)
1,000,000,000& * 14l 1,000,000
Odt=SArg JI X &HEH0l Xt
26,975,000& * 14 26,975
OUSot=32LHMeld 2S23IHI(&HI], A S
) 1,200,000,000& * 14l 1,200,000
404 SIOILEHE2HES 501,560 1,697,850 A 1,196,290
01 BIILELENHUNENES 501,560 1,697,850 A 1,196,290
Odt=S At DJIXHAS &8
101,560,000 * 14 101,560
OStMHER St=HMeld ZX SA
200,000,000 * 14l 200,000
Ostatat=2t1 HHIALE  100,000,000& * 14 100,000
OT A ot==2t1 HHIAY J12 ¥ & AIZ A
100,000,000 * 14 100,000




